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struct gstudent {
char name[20];
int height;
float weight;
long schols;

}s

UoboooooooboboOobOoO gstudentD O gbobobobobuoboubdddd name,

height, weight, scholsl [J ooon
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struct gstudent shibata; I
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struct test {

int X;

long y;

double z;
} ta tb;

gobodboboboboooooooooooooog

struct {
int X;
long y;
double z;

} ta tb;

ogoboooooobooooooboooobooooooboooooooo

0 p.274
gooooog dooobobbooooooboooa goooo.onoooooooon
oooo

0 p.275
0oooood oooboboooooooooooboooooobobooooo=00000o0oooga
0o0oooooooo,jgooooooobooo{oyooa

0 p28100
ogoooon o0ooboboboodoooodooobbobooooooooooobobobooooo
000020000000

ooooooonoooDoo Xi-2



addPoint.c
#include <stdio.h>

struct point {
int x;
int y;
3

struct point addPoint(struct point pl, struct point p2) {
pl.x += p2.Xx;
pl.y += p2.y;

return pl;

int main(void) {
struct point pl = {2, 3}, p2 = {1, 2}, p3;
p3 = addPoint(pl, p2);

{%d, %d}¥n", pl.x, pl.y);
{%d, %d}¥n", p3.x, p3.y);

printf("pl
printf("p3

return O;

addPointArr.c
#include <stdio.h>

int *addPoint(int pl[], int p2[]) {
pl[0] += p2[0];
pl[1] += p2[1];

return pl;

int main(void) {
int p1[] = {2, 3}, p2[]1 = {1, 2};
int *p3;

p3 = addPoint(pl, p2);

printf("pl = {%d, %d}¥n", pl[0], pl[1]);
printf("p3 = {%d, %d}¥n", p3[0], p3[11);
return 0;
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0000 typedef typedef 000000000 O00000O000

O ooooog ; I

0:

struct gstudent {
char name[20];
int height;
float weight;
long schols;

};

typedef struct gstudent student;

000 struct gstudent DO OO0 student DO OO0 0O0O0O0OO0OOOOOOO

typedef struct {
char name[20];
int height;
float weight;
long schols;

} student;
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int al[] = {1, 2}, a2[2];
a2 = al; /0000 */

struct point pl = {1, 2}, p2;
p2 = pl; /* OK */
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O0ooooooodn  time_t time(time_t *timep) OO OO0OUOOUOOOONO struct tm
*localtime(const time_t *timep) O0time_tOOOO00O0OO struct tmO 00000 Olocaltime

goboobooobboooboooboon

goboobobobob oboboboobobobobobobobOobOobOobOobOobOobo

goooooonocoog Xiu-4



